
 

Ｖｏｌ．２２１０

1

3

2

4

5

6

7

8

9

10

11

13

12
14

15

16

17

20

19 18

22

23

21

24

25

26

27

28

29

イラスト番号 部品コード 部品名 定価（税別） 定価（税込） 備考
１ 702550MO 球面脚頭　ｵﾚﾝｼﾞ \2,200 \2,420
２ 702551MO ブラケット押え　ｵﾚﾝｼﾞ \420 \462
３ 702552MO ブラケット押えA \420 \462
４ 791001 十字穴付六角ボルト　M8×25（ワッシャー付） \120 \132
５ 702553 センターリング（球面） \320 \352
６ 702554 センターリング軸 \220 \242
７ 702383 球座金 \360 \396
８ 702376 レベル用Vフック \120 \132
９ 702377 錘球下げ金 \140 \154
１０ 702384 球面用定芯桿セット \1,800 \1,980
１１ 702555 パッキン \120 \132
１２ 791075 十字穴付皿小ネジ　M6×30 \100 \110
１３ 702556MO 接続体　ｵﾚﾝｼﾞ \1,280 \1,408
１４ 702557 脚柱接続金具 \160 \176
１５ 702558 脚柱　右（芯棒付） \940 \1,034
１６ 702559 脚柱　左（芯棒付） \940 \1,034
１７ 702560MO 固定枠　ｵﾚﾝｼﾞ \1,100 \1,210
１８ 702561MO 固定ネジ　ｵﾚﾝｼﾞ \380 \418
１９ 791004 十字穴付鍋タッピングネジ　M4×12 \80 \88
２０ 702562 中棒蓋　ｸﾛ \280 \308
２１ 791003 十字穴付皿小ネジ　M3×8 \80 \88
２２ 791031 六角ナット　M3 \80 \88
２３ 702563 中棒 \1,640 \1,804
２４ 791043 十字穴付鍋小ネジ　M6×25 \100 \110
２５ 791042 六角ナット　M6一種 \60 \66
２６ 792025 スプリングワッシャー　M6 \80 \88
２７ 702564 石突（先金付） \1,740 \1,914
２８ 702565 石突先金 \280 \308
２９ 702398 脚バンド \1,140 \1,254


